

7.3 Day 1

Monday, December 2, 2019 8:56 AM

Integration By Parts

=> Reverse of the Product Rule

Recall the Product Rule!

$$\frac{d}{dx}[f(x) \cdot g(x)] = f'(x)g(x) + f(x) \cdot g'(x)$$

$$\int \frac{d}{dx}[f(x) \cdot g(x)] dx = \int [f'(x)g(x) + f(x) \cdot g'(x)] dx$$

$$f(x) \cdot g(x) = \int f'(x)g(x) dx + \int f(x)g'(x) dx$$

$$f(x) \cdot g(x) - \int f'(x)g(x) dx = \int f(x)g'(x) dx$$

$$\int f(x)g'(x) dx = f(x)g(x) - \int f'(x)g(x) dx$$

or.....

where  $u$  &  $v$  are functions of  $x$

$$\frac{d}{dx} u \cdot v = (u' \cdot v + v' \cdot u)$$

$$\int \frac{d}{dx} u \cdot v dx = \int v \cdot \frac{du}{dx} \cdot dx + \int u \cdot \frac{dv}{dx} \cdot dx$$

$$\frac{d}{dx} \int u \cdot v dx = \int v du + \int u dv$$

$$\int u dv = u \cdot v - \int v du$$

ex:  $\int x \cos x dx$

$$\int f(x) \cdot g'(x) dx = f(x) \cdot g(x) - \int f'(x)g(x) dx$$

$$u = f(x) = x \quad v = g(x) = \sin x$$

$$du = f'(x) = 1 \cdot dx \quad dv = g'(x) = \underline{\cos x} dx$$

$$\int x \cos x dx = x \sin x - \int 1 \cdot \sin x dx$$

$$= x \sin x - (-\cos x) + C$$

$$= x \sin x + \cos x + C$$

Ex:  $\int x e^x dx$

$$u = x \quad v = e^x$$

$$du = 1 dx \quad dv = e^x dx$$

$$= x e^x - \int e^x \cdot dx$$

$$= x e^x - e^x + C$$

How do we choose  $u$  &  $dv$ ?

$\swarrow$  something you can take a derivative  
 $\searrow$  something you can anti differentiate

**L I P E T**

for choosing "u" effectively

Logarithms

Inverse trig.

3 2 1

Polynomial / Power ( $x^2-3$ ,  $x$ ,  $\sqrt{x}$ ,  $x-x^2+1$ )

Exponentials

Trig

Ex:  $\int x^2 \ln x \, dx$

$u = \ln x$

$v = \frac{1}{3} x^3$

$du = \frac{1}{x} dx$

$dv = x^2 dx$

$= \frac{1}{3} x^3 \cdot \ln x - \int \frac{1}{3} x^3 \cdot \frac{1}{x} dx$

$= \frac{1}{3} x^3 \ln x - \frac{1}{3} \int x^2 dx$

$= \frac{1}{3} x^3 \ln x - \frac{1}{3} \cdot \frac{1}{3} x^3 + C$

$= \frac{1}{3} x^3 \ln x - \frac{1}{9} x^3 + C$

you try...  $\int x \sec^2 x \, dx$

$u = x$

$v = \tan x$

$du = dx$

$dv = \sec^2 x$

$= x \tan x - \int \tan x \, dx$

$= x \tan x - \int \frac{\sin x}{\cos x} dx$

$u = \cos x$   
 $du = -\sin x dx$

$= x \tan x + \int \frac{1}{u} du$

$= x \tan x + \ln |\cos x| + C$